TRAILER HITCH
INSTALLATION INSTRUCTIONS
MJdTHS8000

INCLUDED: TooLs NEEDED:

Trailer Hitch 13mm socket
- 8x40mm hex bolt

- 10x20mm flatwasher

- 8x25mm hexbolt

- 8x15mm flatwasher

Trailer Hitch

AR DD

Using 8x25mm hardware provided,
attach brackets to hitch using the inside
holes. Bracket should face each other
as shown.

If installing this product with a saftey
grab bar, skip to Step 3.

Using 8x40mm hardware, attach trailer
hitch to footrest as shown.

Jowe .

L

\\/

)
|



ounting kets from Step 1. Attach
h to grab bar using 4 bolts as shown.
Hand,tighten bolts until all 4 bolts are in

- place, then tighten completely.

\ If ins\g\dlglkg this product with a Madjax
7 Saftey }b?zr, yeu will-not use the
brac

4

Attach grab bar and trailer hitch to
footplate as shown, and tighten.

Attach receiver with pin clip to complete
installation.

INSTALLATION COMPLETE

VISIT WWW.MYMADJAX.COM FOR MORE INSTALLATION VIDEOS.

Club Car®, Club Car® Precedent®, and Club Car® DS® are registered trademarks of Ingersoll Rand, Inc. (“Ingersoll
Rand”). Reference to Club Car®, Club Car® Precedent®, or Club Car® DS® or any of Ingersoll Rand’s trademarks, word 4
marks, or products is only for purposes of identifying golf carts with which this Madjax product is compatible. Madjax /
products are aftermarket parts and are not original equipment parts. Madjax is not connected to, affiliated with, sponsore

by, or endorsed by Ingersoll Rand or any of its subsidiary companies.

/ / N\ 7 N\ Vo




